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ch̄

∮
Adl =

2e

ch̄

∫
RSTAds =

2e

ch̄
Φ = 2π

Φ

Φ0
.

J���# Φ ! �	�	� 
�/�
��	/	 �	�� ����� ����6% Φ0 = hc/2e ! ����� �	�	��� Ǳ	�����
�
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� � �
��#1��
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 	����������� ���
���
 ��	(	��	/	 ��	(�/�

5�����	�	� τ % ��� ��	�	 /����" ! ���
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 �
����
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§� "���	� ��������� 
�
�����

;	�
��������	 �����	�"� �	�����
 
	/�� ("�# �����
���" � �	
	8#6 �
�!

/��

�	 ����
�
 :� �
��� � ����	
 �
�/��

 	�
�"��68
� ��	�	�

	��# 5���!

��	�	�% ���

	�� ����68
� � ��

���

� ;����	 
��	,

 ��	�	( ������� �����	!

�"� �	����	� @�4A% �	�	�"
 (���
 �	�#�	���#�� � ���#�� 1�
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C(r, r) 	�������6��� �����	�"� �	�����
 � ��	�	�

	��
�

Ǳ	������ � ��	�	�

	��
 ��
 ����	�� ω ������� � Cω(r, r) �		��	1��
�
 1

δσ(ω) = −2e2

π
DτCω(r, r). �����

'��
�
�� Cω(r, r) � 
�/�
��	
 �	�� ��	�����	���� �������
6

{
−iω +D

(
−i∇− 2e

c
A
)2

+
1

τϕ

}
Cω(r, r′) =

δ(r− r′)
τ

, ���)�

/�� A ! ����	� �	����
�� 
�/�
��	/	 �	��% ω ! ����	�� ���1��/	 �	��� F������
�

���)� �	�
��#�	 �	������� � �������
�
 ��� �����
 M�
�� �����	��% ����
�" �

�����	
 2e 
 
���	 M = (2D)−1% ��
/�68� �� � 
�/�
��	
 �	��� E = iω − τ−1
ϕ !

�		���������� 5���/

 �����	���

1J���# 
 ����� 
" �	��/��
 h̄ = 1% �	��������
��� �/	 � �	����"� �	�
�����
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 2D �
���
� (�� ���
�	���� Ǳ���# En ! �	(������"� ������
� �>��	�!

�
 5���/

> �����	��� 
 ψn(r) ! �	�

�	����"� �	(������"� �����

 �������
�

L���
�/��� � 
�/�
��	
 �	��

1

2M

[
−i∇− 2e

c
A
]2
ψn = Enψn. ���*�

D	/�� �"��,��
� ��� Cω(r, r′) ��

�� �
�

Cω(r, r′) =
1

τ

∑
n

ψn(r)ψ∗
n(r′)

En − E
, �����

/�� En = ωH (n+ 1/2)% ωH = 4DeH/c ! �
��	��	���� ����	�� �����	��% n ! /����	�

�����	�	� �
��	�

B� ����"��8
� �"��,��
 ������� �	�	1	 
������	� �"��,��
� ��� �����	!

�"� �	����	� @��A

δσ(H) = σ(H) − σ(0) =
e2

2π2
f
(

4DeHτϕ
c

)
, ���0�

/��

f(x) = ψ
(

1

2
+

1

x

)
+ ln x =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

x2
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��
 x� 1,

ln x ��
 x� 1.

J���# ψ(y) ! �	/��
�
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��	���� /�

� �����

�

Ǳ�
 ���
�

 ���
�	���% ��
��� 
� ��	��	��# 
��	 �naρ
2
a � 1�% 
" 
	,�


�����(���# ��
��
�
 ���
�	��� ���/ �� ���/�� Ǳ	���� �	������ �������� ��
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� �����	�"� �	����	� � ��	�	�

	��
 2D �
!

���
" ��
 ��,�	 ��1
�# �������
� ���)� ��� Cω(r, r′) � 
�/�
��	
 �	�� ��� 2D

���/�	/	 	(����� (	�#1	/	 ���
���% � ������ �	�	�	/	 ���	�
��� 	��� ���
�	���% �

/���
��"
 ���	�
�
 @�4A

{
∂

∂n
+

2ie

c
(An)

}
Cω(r, r′)

∣∣∣∣∣
r=ρa

= 0. ���2�
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F��	�
� ���2� 	�������% ��	 �	�	� ����
� ����� /���
�" ���
�	��
 ����� ���6� =	!

	��	1��
� ����� ��� �����	�"� �	����	� � ��	�	�

	��
 � 5�	
 ������ 

��� �
�

δσ(ω) = −2e2

π
Dτ

∫
Cω(r, r)

dr

S
. ���4�

J���# S ! ��	8��# 	(������

'"��,��
� ��� �����	�"� �	����	� � ����	
 �����	� 	� ���� ���
�	��� �	!

�������� 
� ���4� � �	
	8#6 �����% �
�	,��
�
 �� �	�
�����	 ���
�	��� naS� '

�����#����%

δσ(ω) = −na
2e2D

π

∑
n

1

En −E
. ���7�

' ���#�� 1�
 
" (���
 ����
���
���# ����
�����6 ��	�	�

	��#� ;����	�"�

�	�����
% 	(���	�����"� ���
�
�
 ���
�	���% �	�	�"� 	(	����

 ����� δ2σ(H, ρa)%

����" ����	��
 �����	�"� �	����	� � ��	�	�

	��
 2D �
���
" � ���
�	���

 


(�� ���
�	���

δ2σ(H, ρa) = δσ(H, ρa) − δσ(H, 0) = −na
2e2D

π

(∑
n

1

En −E
−∑

n

1

E0
n − E

)
, ���-�

/�� E0
n ! ��	��
 5���/

 �����	�� � 	�������

 ���
�	����

D��

 	(���	
% ��� ���	,���
� �����	�"� �	����	� ��
 �	����	��	 	�����!

�
�# ��	��
 5���/

 �����	�� � �	��	���	
 
�/�
��	
 �	�� ��� 2D ! �
���
" �

���
�	���

 
 (�� ���
�	����

' �	����"� �		��
����� ρ, ϕ ����	��" �	����
�� 	��	�	��	/	 
�/�
��	/	

�	�� 

��� �	
�	����"I Aϕ = Hρ/2, Aρ = 0 
 �������
� L���
�/��� ���*� ��

��

�
�

− 1

2M

[
1

ρ

∂

∂ρ

(
ρ
∂ψ

∂ρ

)
+

1

ρ2

∂2ψ

∂ϕ2

]
+
iωH

2

∂ψ

∂ϕ
+
Mω2

H

8
ρ2ψ = Eψ. ������

M���
��	� ���	�
� ���2� � �	����"� �		��
����� 

��� �
�

∂ψ

∂ρ

∣∣∣∣∣
ρ=ρa

= 0. ������
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B8�
 ��1��
� � �
��

ψ = eimϕR(ρ), ����)�


 ��� ���
��#�	 ����
 �	��	�	 �����

 �	�����
 �������
�

1

2M

(
R′′ +

1

ρ
R′ − m2

ρ2
R

)
+

[
E − Mω2

H

8
ρ2 +

mωH

2

]
R = 0. ����*�

'���� �	��6 �����
�

�6 ����
����6 ξ = MωHρ
2/2% �����
�"���
 �������
�

� �
��

ξR′′ +R′ +

(
−ξ

4
+ β − m2

4ξ

)
R = 0, ������

/�� ������	 	(	������
� β = E/ωH +m/2�

Ǳ�
 ξ → ∞ 
��	
�� �����
� ����� ��(� ��� e−ξ/2% � ��
 ξ → 0 ! ��� ξ|m|/2� '

�		�������

 � 5�

 
8�
 ��1��
� � �
��

R(ξ) = e−
ξ
2 ξ

|m|
2 w(ξ), ����0�


 ��� w(ξ) �	�����
 �������
� �"�	,����	 /
���/�	
���
����	 �����



ξw′′ +
(
1 + |m| − ξ

)
w′ −

(
1 + |m|

2
− β

)
w = 0. ����2�

3(8�� ��1��
� �������
� ����2� 
	,�� ("�# ���
���	 � �
�� @)�% ))A

w = AM(a, b; ξ) +BU(a, b; ξ).

J���# M(a, b; ξ) 
 U(a, b; ξ) ! �����
� ;�

��� 
 D�
�	

% �		����������	% /��

a = (1 + |m|)/2 − β = (|m| − m)/2 + 1/2 − ε% ε = E/ωH % b = 1 + |m|� A 
 B !

��	
��	�#�"� �	��	���"��

Ǳ�
 ξ → ∞

M(a, b; ξ) =
Γ(b)

Γ(a)
eξξa−b

[
1 +O

(
1

ξ

)]
,

U(a, b; ξ) = ξ−a

[
1 +O

(
1

ξ

)]
.
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B� /���
��	/	 ���	�
� �� (���	����	��
 R(ξ)
∣∣∣
ξ→∞ = 0 �������% ��	 A = 0� D	/��

��1��
� ����0� �������
� ������ ��

�� �
�

R(ξ) = Be−
ξ
2 ξ

|m|
2 U(a, b; ξ). ����4�

M���
��	� ���	�
� ������ ����

∂R(ξ)

∂ξ

∣∣∣∣∣
ξ=ξa

= 0. ����7�

Ǳ	�������� ����4� � ����7�% �	�����
 �������
� ��� a

1

2

[
1 +

|m|
ξa

]
U(a, 1 + |m|; ξa) − U(a, 2 + |m|; ξa) = 0. ����-�

.�1��
� �������
� ����-� 	��	�
���#�	 a 	��������� ��	��
 5���/

 �����	�� ε 


����� �"��,��
� ���-� ! �����	�"� �	�����
 � ��	�	�

	��
�

§ 2D �
��	�� � ���
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���

.���
	��

 ������% �	/�� ���
�� ���
�	��� 
�� �	 �������
6 � ���������"
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 �����
% ρa � min(aH , Lϕ)� &�	
� �		���������� ξa � 1� F��	�
� ξa �

1 �	��	���� ����	,
�# ����-� �	 
��	
� ����
���� ξa� '"����� /����"� ����" �

����	,��

% ���	�



(
1

2
− a

)
ψ(a) =

1

ξa
��
 m = 0,

|m|(a− 1) . . . (a− |m|)(−1)|m|−1ψ(a) =
(|m|!)2

ξ
|m|
a

��
 m �= 0, ���)��

/�� ψ(a) = Γ′(a)/Γ(a). Ǳ	�������� � ���)�� ��

��	�
�� ��� ψ @)�A

ψ(a)

∣∣∣∣∣
a→−nρ

∼ − 1

a + nρ

∣∣∣∣∣
a→−nρ

,

/�� nρ ! ���	� ��	��
�����#�	� �
��	% 
 
��	�#��� ����# ε = 1/2 + (|m| −m)/2 − a%

���	�

 ��	��
 5���/

 �� ��
�
��� ωH�

εn,m =
(
n +

1

2

)
(1 − αn,m) , ���)��



!)2!

/�� n = nρ + (|m| −m)/2 ! /����	� �����	�	� �
��	%

αn,0 = −ξa,

αn,m�=0 =
|m|
n+ 1

2

(
n− |m| −m

2
+ 1

)
. . .

(
n− |m| −m

2
+ |m|

)
ξ|m|
a

(|m|!)2
.

B� ξa � 1 �������% ��	 αn,m � 1�

F�	��
 �����	�� � 	�������

 ���
�	��� �	����6��� ��
����
���
�
 � ���6

���
��� ���
�	���

E0
n,m = En,m

∣∣∣
ρa=0

.

Ǳ	�������� ���)�� � ���-� 
 ��
�"���% ��	 αn,m � 1% �	�����


δ2σ(H, ρa) = −na
2e2D

πωH

∑
n,m

αn,m

(
n + 1

2

)
(
n+ 1

2
− ε
)2 . ���))�

3��6�� �
��	% ��	 	��	��	 ����� � ��

� ��6� m = −�% �% ��

D	/�� ���))� ��	�
��� �

δ2σ(H, ρa) = −naρ
2
a

e2

2π

∞∑
nρ=0

⎡
⎢⎣ ε(
nρ + 1

2
− ε
)2 +

1

nρ + 1
2
− ε

⎤
⎥⎦ . ���)*�

=�

� ���)*� 
	,�	 �����
���# � �	
	8#6 	(	(8���	 �����!�����

 ζ(s, v) =

∞∑
n=0

(n + v)−s% � s = 1 
 s = 2� �����!�����
� � s = 1 ����	�
���% �	 5�� ����	�
!


	��# ����������� ����	
 ������#�	/	 ������
� 5���/

 �����	��% �	�	��� 	���!

������ �����
 ������ ��

"% (nρ)max = D/ωHl
2� ' �����#���� � �	/��
�

����	 

�	��	��#6 �	�����


δ2σ(H, ρa) = −naρ
2
a

e2

2π

[
εζ
(
2,

1

2
− ε
)
− ψ

(
1

2
− ε
)

+ ln
D

ωH l2

]
. ���)��

J���# ψ(y) ! �	/��
�

������ ��	
��	���� /�

�!�����

�

Ǳ����	�� � ����
���	 x = ωHτϕ = 4DeHτϕ/c = −1/ε% 

��


δ2σ(H, ρa) = naρ
2
a

e2

2π

[
f1

(
4DeHτϕ

c

)
− ln

Dτϕ
l2

]
, ���)0�



!)4!

/��

f1(x) =
1

x
ζ
(
2,

1

2
+

1

x

)
+ ψ

(
1

2
+

1

x

)
+ ln x =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

1 − x2

24
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 x� 1,

ln x ��
 x� 1.
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	� �� ���
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�/�
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�
�� �����	�"� �	����	�% 	(���	�����"� ���
�
�
 ���
�	���% � �����	
 �	��I

δ2σ(ρa) = −naρ
2
a

e2

2πh̄
ln
Dτϕ
l2

. ���)2�
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���#�� 5�����	�� ��
 �������

 ("�


(	�#1� ���������	/	 

���#�� �����	�� q ∼ (Dτϕ)−
1
2 �

���
�
� ���
�	��� ��
�	�
� � 
�
����
6 l� 3����	 � ������� l � ρa �	�����


� ��
�� ��	(	��	/	 ��	(�/� 
��" �	 ����
���� naρal 
 �������"� � �
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� �
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���� �	���,�� 
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��� l/ρa� �� ���
���#�	% �	�#�	 5�����	!
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�
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 �� ��������
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 � ���
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�	��
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 ���
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�
!

�" 	(8�/	 ���

���� ���
�	��� � ��
�
�� ��	8��
 	(����� 2πnaρa% �
�	,���	/	
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����6 ��
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 �	5��
�
���	
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!)7!

���,�8� ���/	�"� �	�	��
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C(+0, x′) = C(L− 0, x′), C(L/2 − 0, x′) = C(L/2 + 0, x′),

2α−1C(0, x′) = L∂xC(+0, x′) − L∂xC(L− 0, x′), �)�)�

−2α−1C(L/2, x′) = L∂xC(L/2 − 0, x′) − L∂xC(L/2 + 0, x′).
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xN(ε, x) = 0,

±αL∂xN = N −NF (ε+ eV0/2) ��
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Ωr =

Lz∫
0

dz

r0∫
0

rdr

φ∫
0

dϕω = ω3D
3 Lzφr

2
0/2 + ω3D

2 2Lzr0 + ω3D
1 Lz + o(1). �*�)�
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ω3D
1 =

1

Lz

⎡
⎣(Ωr − r2

0 lim
r0→∞

[
Ωr

r2
0

])
φ

−
(

Ωr − r2
0 lim

r0→∞

[
Ωr

r2
0

])
φ=π
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− 1

2me

[
1

r

∂

∂r

(
r
∂ψ

∂r

)
+

1

r2

∂2ψ

∂ϕ2
+
∂2ψ

∂z2

]
= Eψ, �*���
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ψn,m(z, r, ϕ) = C exp(ikzz)Jν(kr) sin(νϕ), ν =
πm

φ
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πkr
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C =

√
2πk

φR
, πn = kR. �*�2�
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Ωr = −Lz

π
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dkz

∞∫
0

kdk

r0∫
0

rdr
∞∑

m=1

J2
πm
φ

(kr)

(
μ− k2 + k2

z

2me

)
θ

(
μ− k2 + k2

z

2me

)
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mer2
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Lz

π

kF∫
0

dkzu
4

1∫
0

xdx
[
ln x+

1

2

(
1 − x2

)] ∞∑
m=1

J2
πm
φ

(ux). �*�7�
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J2
jm(t) =

1

j

[ j
2
]∑

m=1

J0

(
2t sin

(
mπ

j

))
+

1

2j
− 1

2
J2

0 (t) −

− 1

4j

(
1 + (−1)j

)
J0(2t). �*�-�
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3 = − k5

F
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2 =
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F
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ω3D
1 (φ) = − φ

(2π)2mer2
0

kF∫
0

dkzu
2

⎡
⎢⎣

[ j
2
]∑

m=1

1

sin2(mφ)
− 1

4

(
1 + (−1)j

)⎤⎥⎦ . �*��)�
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Ωr =

r0∫
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rdr
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0

dϕω = ω2D
3 φr2

0/2 + ω2D
2 2r0 + ω2D
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N = −∂Ω
∂μ

=
(2meμ)

3
2V

3π2
− meμS

4π
+

(2meμ)
1
2

12π

∑
n

Ln

(
π

φn
− φn

π

)
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∑
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∞∑
n=1

F (n) =

∞∫
0

F (x)dx− 1

2
F (0) + 2YK

∞∑
s=1

∞∫
0

F (x)e2πisxdx. �*�)��

J���# ����	�% ��	�	� 
 ����#� ���/��
"�% ��

�����"� � �*��-�% ��6�% �		����������	%
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�" Ω3% �	�����	���" Ω2 
 	��
��
��68
 Ωosc. �����" � Ω!�	����
�� �Ω =

Ω3 + Ω2 + Ωosc.��

' �����#���� �	��� ��(	�#1
� �"�
����
 � ������ 2D �	�	�" �	�����


Ω2D
3 = −k

4
FdL

8πme
, Ω2D

2 =
k3

FL

3πme
,

Ω2D
osc. =

∞∑
s=1

k
3/2
F L

2mes5/2(πd)3/2
cos
(

5π

4
− 2skFd

)
, �*�)��

/�� L ! ��	�	�#�" ���
�� �
���
"�

9���	/
��	% � ������ 3D �����
�" �	�����


Ω3D
3 = − k5

FdS

15π2me
, Ω3D

2 =
k4

FS

16πme
,

Ω3D
osc. =

∞∑
s=1

k2
FS

4mes3(πd)2
sin (2skFd) , �*�))�

/�� S ! ��	8��# �����
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�������	 � Ω!�	����
�� ��
 �	!

����	 ��
�������� 
	,�	 �	���
�# 
� �"��,��
� ��� Ω!�	����
��� ��
 T = 0 �

�	
	8#6 
������	 �	�
��"

Ω(μ, T ) =
∫
dE Ω(E, 0)

(
−∂f(E)

∂E

)
. �*�)*�
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 � Ω!
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 �*�))� ����I

Ω2D
osc. =

∞∑
s=1

k
3/2
F L

2mes5/2(πd)3/2

πskFdT/μ

sh(πskFdT/μ)
cos

(
5π

4
− 2skFd

)
,

Ω3D
osc. =

∞∑
s=1

k2
FS

4mes3(πd)2

πskFdT/μ

sh(πskFdT/μ)
sin (2skFd) . �*�)��
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��	��	��# �	��	��
 ν(E)I

Ω = −
∫
dEν(E)(μ−E)Θ(μ− E),

ν(E) =
∑
n,k

δ(E −En(k)). �*�)0�
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ν(E) = −1

π

∑
n,k

ImG+
nn(k). �*�)2�
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 M�
�� G0
n(k) = [E−En(k)+

iη]−1. Z
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% �	/�� kF l � 1 
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[E − En(k)]Gnn′′(k) +
∑
n′

Σnn′(k)Gn′n′′(k) = δnn′′δ(k − k′). �*�)4�

J���# Σnn′(k) ! �	(������	!5���/��
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[
E +

1

2me

d2

dz2
− k2

2me

]
Gk(z, z

′′) +
∫
dz′Σk(z, z

′)Gk(z
′, z′′) = δ(z − z′′)δ(k − k′), �*�)7�

/�� Σk(z, z
′) =

∑
n,n′

ψn(z)Σnn′(k)ψn′(z′)�

=	/����	 �*�)7�% �	(������	!5���/��
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� � ���
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�	 �������
6 � 1
2me

d2

dz2 % � ��
 z � k−1
F ���
�
�� Σk(z, z

′) 
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 U(r) = U0δ(r)� Ǳ	!
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��� �
�I V (z, ρ) = U0
∑
i
δ(z − zi) δ(ρ− ρi)�
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������ ����# 
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Σk(z, z
′) = Σ δ(z − z′), Σ = niU

2
0

∑
n

ψn(z)2
∫ d2k

(2π)2
G0

n(k). �*�)-�
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G+
k (z, z′) =

∑
n

ψn(z)ψn(z′)
E − En(k) − Σ+

. �*�*��
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ν(E) =
1

π

1/2τ

(E − En(k))2 + (1/2τ)2
. �*�*��
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Ω2D
osc. =

∞∑
s=1

k
3/2
F L

2mes5/2(πd)3/2
exp (−s d/l) cos (5π/4 − 2s kFd) ,

Ω3D
osc. =

∞∑
s=1

k2
FS

4mes3(πd)2
exp (−s d/l) cos (2s kFd) �*�*)�

'
��	% ��	 ��

���	� �������
�% ��� ,� ��� 
 �	������ ��
��������% ��
�	�
�

� 5���	����
��#�	
� �������
6 	��
��
��68�/	 ������ � Ω!�	����
���

§7 ��
�����
��. �������
���. %�	��	�
�	��
. �
	���

'"��,��
� ��� ��(���	/	 ������ � 5���/
6 �	������� ��/�	� 	(	(8��
� ��

����� ��
�	��	��	/	 �������
��	/	 5���/��
����	/	 ������� ε(k) =
∑
k2

i /2mi� =

�	
	8#6 ���
��	/	 ���	(���	���
� x′i = xi(mi/me)
1/2% /�� me = (m1m2m3)
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%
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cos φ =
3∑

i=1

n1in2i

mi

[
3∑

i=1

n2
1i

mi

3∑
i=1

n2
2i

mi

]− 1
2

, �*�**�

� ��
�� ��(�� Ln =
[ 3∑

i=1
L2

ni

]1/2
��
������� ��

[ 3∑
i=1

mi

me
L2

ni

]1/2
�

.���
	��

 �����" ����� % �	/�� ��(�	 �	������� � 	�#6 �*� 5��
��	
�� 5�!

����
��"� 
���� Ǳ���# α 
 β!�/�" /���� ��
�����
�� � ��	��	��#6 xz ������	��!

/�����% ��	 α > β�� Ǳ�
 5�	
 ���	(���	����" �/	� 
�,�� /����

 ������ �		��	!



!0-!

1��
�
I

tg φ =

√
m2

m1

tgα− tg β

1 + m2

m1
tgα tg β

. �*�*��
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 �/	� φ ������� �"(
���# � �	 ,� �	����	��	��
% ��	 �/	�

α− βI ��
 0 < α− β < π% 0 < φ < πG ��
 π < α− β < 2π% π < φ < 2π�

Ǳ�
m1 � m2 	��	��	 ����� � ω1 	����������� (	�#1

 
�	,
����
 (m2/m1)
1/2
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ω3D
1 = −(k3

F/36me)(m2/m1)
1/2(ctg β − ctgα)−1, α, β �= 0, π.
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�	�	�	,�" ������ 5��
�������� ����	
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 �	�������� ����
 ��
��" m1 →

m2% α → π/2 − β% β → π/2 − αI

ω3D
1 = −(k3

F/36me)(m1/m2)
1/2(tgα− tg β)−1, α, β �= π/2, 3π/2.
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%
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1 = −(k3

F/36me)(m2/m1)
1/2 ctgα�

D��

 	(���	
% ����"��8�� ����
	����
� �	���"����% ��	 � ������ ��
�	��	�!

�	/	 5���/��
����	/	 �������% ��(����� 5���/
� ��8�������	 ���
�
� 	� 	�
�����



��(�� 
 �		��	1��
� 5�����
��"� 
����

§! 8������	 �	�������� 
 ������ �����

B�����" �	�����
 � ���
	�
��

����	
� �	����
���% �������"� � �	����	!

��#6 ���
���� B�����	���� �	�����	����� 
 ��(����� 5���/
� /��� ��	(	��"� 5���!

��	�	� �� 
����#�	 �	�����	��
 	/������	/	 

��	��
������� .���
	����� 	��
�!

�
��68�� ����# ���
	�
��

����	/	 �	����
���� Ǳ	�����	% ��	 ���� �	����	 ��
!



!2�!

�������"% � ���,� ��

���	/	 �������
� ��
�	�
� � 5���	����
��#�	
� �	������
6

	��
��
��68�/	 ������� Ǳ	�����	 	(	(8��
� �"��,��
� ��� ��(���	/	 ������ �

������ ��
�	��	��	 5�����
��	 
���" ��� ��	
��	�#�	 	�
�����

 ���/����	/	

�/�� �	 	��	1��
6 � 	��
 ����	�� 5�����
��"� 
����



!2�!

� Ǳ����!������� $�)�����)�  �.* �

��7$����2!����������( #�#��$�(

' 
�/�
��	
 �	�� 5�����	�"% �	���1�� ���/	�	� ��
,��
�% �	���6� 	�(
!

���#�" 
�/�
��" 
	
���� ��/�
��" 
	
��� �"�
�����" � ��
��� �����
��!

��	 ����
��
����	 
����
�
% �	/����	 ��	��
� C	��!��� E�����% ����� ���6� Ǳ�


5�	
 	(?�
�" ����� � �
�
�/�
��" 
	
��� � �	��	��
 �	
����
������ �����	


	� ��� ���"���
"� >�����8
� 	�(
�> 5�����	�	�% �	�	�"�% �����
����# � /���
�� %


�	/	�����	 	���,�6��� 
 �	���6� >�����	 �	�>�

F��� �����	���
� 5�����	�	� � 
�/�
��	
 �	�� ��
�	�
� � �	����	
� 
�/�
�!

�	
� 
	
���� @*-A� = �	��
 ����
� �	����	 �
���
"% 5�	 	������� ���	���6 ���

!

��6 �	
������
6 
	
���	� ��������
� 
 �����8
� 5�����	�	�� = ���/	 ��	�	�"%

� ����
	�����	
 E����� ������� (	�#1	 �
���
" ����
	�
��

����	
 ��������

�
�
�/�
���� �	���


�
�	��# �� ���
�
� 	� ���
��	� 
 �	�
" �
���
"� 3����	%

���
	�
��

����
 ������ �����	��/���% ��	 �����	��
� 
�,�� ��	���

 5���/



��� �
���
" 
��	 �	 �������
6 � ��
�������	 � ' ��

����

 � �
�� �"
 	���
!

��
 � �������� �����	��
� 
�,�� ��	���

 �"������� 5�� ���
�
�� � 	�������
�


�/�
��	/	 �	��� U��
 ��
�������� �	����	��	 
���% ���	�
� ��

��

	��
 ���
	!

�
��

����	/	 ������� ����1�����% 
 �	���


�
�	��# ���
���� ��8�������	 ���
!

���# 	� ���
��	� �
���
"� C	��� �	/	% ��
 �����	 ��
�������� � �	��	
 ���
��	�

�
���
" ��������

 �	���


�
�	��
 �� �
��#1�6���% ��� ��
 �	����	 ��
����!

����% � �	������6� �� 
���
��
����	 �	��
 ����
�% ������� �� ��8��������� Ǳ�


5�	
 
������� 
 ���� �	���


�
�	��
 ! �
���
� ������
���� 
�,�� �
�! 
 ����!


�/�
��"

 �	��	��
�

�

&�����"% �������"� � ��
��
�
 �	����	��
 ���
��� �
���
" �	�(
���#�" 



!2)!


�/���
�
� ("�
 
�����	���" 
�	/


 ���	��

 @���0-A� ' ����
��"� ��(	��� ��
!

��
� /���
� 
	���
�	���	�# ��
 �	
	8
 /��
	�
����	/	 �	����
��� @�)��-A 
�


,����
� ����	� ������"� /���
��"� ���	�
� �� �	��	�"� �����

� @0��0-A�

&�
 
�����	���
� �	�����
% ��	 ��
 �"�	�	 ��
��������% �	/�� ��
��������

����"1��� �
��	��	��" ����� h̄ω 
�
 ����6!�
(��# ��������
��
�����6 5���/
6


	���
% �
�
�/���
�
 E����� ��8�������	 �� 
�������I ���
�
� /���
�" ��
�	�
�

� ��(	�#1	 �	������ � �	���


�
�	��
 E����� @0�A� = ���/	 ��	�	�"% ��
 �
��	 

��
�������� ��
�/�
����	��# 
	,�� ����
 ��(� �	���
 �	 ���/	
��

����

��% ����	�	
 @�*A 
 ��
��	
 @��A ("�	 �	�����	% ��	 � �
���
� � /��
	!

�
����

 	/���
�
��68

 �	����
��	
 
�/�
��" 
	
��� ��
 T = 0 	��
������

	� �
�
�/���
�
� E������ [	1
	�� 
 :����
� @�2A ������
% ��	 � ���(	
 �	�� 
 ��


�
��
� ��
��������� ( T <∼ �
�
��	/	 �����	��
� 
�,�� ��	���

 � 	/���
�
��!

68�
 �	����
����% 
�/�
��" 
	
��� ��� �
���
" 
��"�"���� ����	����
���"�

��������

% (	�#1
� �	 �������
6 � 
�/�
��"
 
	
���	
% �������"
 � �	���
!



�
�	��#6 E�����% 
 �	 
��� ����
���
� ��
�������" ��
 ���	
 ,� ���(	
 �	��

��������

 
�����6� 
 �	��������
������ �
�
�/���
�
 E������ H�,�� 
 L��
!

�	 @�4A% 
����� ����� �	�	�" � 1
�
�	 L% 	�
��
�
% ��	 ��
��������% �
,� �	�	�	 

�	����6��� ���
� ��������

% 	����������� �		��	1��
�
 T ∼ h̄/τtr% /�� τtr = L/vF

! ���
� ��	���� 5�����	�	� �� ��	��� :��

 ����� �
���
��

;�	
� �	/	% ���	��

 ��(	� @��%0��04A ("�	 �	�����	% ��	 �	/�� � �
���
� 

�!

���� ���
��#��� �


���
� ��	�# 	�
 ��������#�	 
�/�
��	
� �	�6% ����	�
���

�	�
	,�"
 	�(
���#�" ����
�/���
�
�

Ǳ�	(��
� 	�(
���#�	/	 
�/���
�
� � �	��
 ����
� �����	�	/	 ��	�� �����"�

("�� ����
	����� ����
��	 
 D	
��	
 @07A% �	/�� 	�
 �
�����	 
�����
 ����
�
�


�/�
��"� 	���
�	� ���/�	/	 
 5��
��
����	/	 (
�#���� ��
 �����	 ��
���������



!2*!

;��/�" (
�#��� 
���/�
���
 ��
 ��	
��	�#�	
 �	��% � �	 ���
� ��� 5��
�� ! ��


���/�
���
% ��	 ��
�	�
� � ��	�
����	
� �	�����
6 	�(
� 
 ������� ��
 �	����	



�/�
��	
 �	���

��/�
��" 	���
� 
��	��	�
����	 �
���
" � (���
��
����

 ��
,��
�
 5���!

��	�	� �L� l�% ��	�
����	 � �����
����	
 �������% ����
���
����� � @0-�2�A� ' @0-A

����
�����
����
� 
��	�" ��

����
�# ��� �	�����
� �	�
��" ��� �	���


�
!

�	��
% �	�	��� �"��,��� � ���

��� �	����	/	 �
��� �����
����
� ���
	�
����
�

	�(
�� &�� �	�
��� 
��	�#������ ��� 
�����
� ��������
 �	���


�
�	��
 �	

�������
6 � ��������
�

 ����� �	 �
���
"� 3(��,���" ���	�	�"� 
����
�
"%

��
�	��8
� � ���

 ��������
�
�

.
���� � �	���	��

 @2�A 
��	�#�	���
 ����
�����
�����6 ��	�
6 	�(
���#�	!

/	 
�/���
�
� �����

	�� ����68
� 5�����	�	�% ��
,��
� �	�	�"� 	/���
���	 �	

���
 
�
����
�
� 3�
 �	�����
% ��	 � 	/���
����	 /�	
���

 ���/�� ��
���������

���������" �
�
�/�
��" 	���
� E�����% �� �	�	�" ������"��6��� ���
���"�

�����" ����
!����� �	/	 �����G ���
�
�� �	�����
� 
	,�� ����
���#�	 ����"1��#

�
�
�/�
��" ������ &�
 �	�����
 ������
���#�" � ��
�	�� �����
����	 �
��

!

�
� ' @2�%2�A �	�����	% ��	 �
���
"% �	�	�"� 
���/�
���
" � 	�������

 
�/�
��	/	

�	��% �	���"��6� 
�/�
��" 	���
�% (	�#1
 % ��
 ��	�
����
� �
���
"� &�� ����
!

�� �������� �����#���	
 (	�#1
� 	��
����
 ��	��	��
 �	��	��
 � 
���/�
���
"�

�
���
�� 
�!�� ��8����	���
� ��
� ���� ���
	�
����
� 	�(
��

9��	��

 @2)�4*A ����
	���� 	�(
���#�" 
�/�
��" 	���
� 
��	��	�
����
�

	(����	� � �
����
	��	
 ��,

� �L� l�� C"�	 �	�����	% ��	 	�(
���#��� 
�/�
�!

��� �	���


�
�	��# χ ������
���� 	� 	(����� � 	(�����% 
 �
�
���� ��������
�%

〈Δχ2〉 1
2 
	,�� ����"1��# ������� ������
� 〈χ〉 ��/�	�"� ��	(�
 	�����6� �������!

�
� �	 ����
(�6 
���	��	�
����
 
����
��"� 	(����	��% �	�	�	� � �
���
� � �
�!



!2�!

�
�	����"
 �


����

 �	����
��	
 ����,� �� ���
��8

 	� 
�/�
��	/	 �	��� �

/����	
 �	����� ����� �	���


�
�	��
 E������

Ǳ	�,� 9�#�1���� � �	���	��

 @4*A% ����
���
��� ��
�/�
����	��# �
���!


" 
�	�
�	����"� �����	�"� �	��� ��
��	 5�����	�	� �
��
�	���	�% �	�����% ��	

����������� �	���


�
�	��# ���	�
����	 �
���
" �	���,
� ����
�/�
��" �����%

�	�	�" ���
�
� 	� ���
��	� �
���
" 
 ���,� 
	,�� ��
�

��# (	�#1
� ������
��

B�����	���
� ��	�����������	/	 �����������
� ����	����	/	 �	�� � ���
��!

�	!�����	����"� �
���
�� ���,� ������������ (	�#1	 
������% �	��	�#�� ����	!

����" �	� ���	����������	 ������ � 	�(
���#�"
 
�/���
�
	
% 
 ��8�������	 �	!

�	����� ����
�� �	��
��	���
� �
�
�/���
�
� E������ 3����	% �	�#�	 � �	�������

���
� ����
 ������# ��

��
� �� 
�����
6 @�7% 42A�

Ǳ�	�����������	� �����������
� 5�����
����	/	 �	�� � 
�/�
��	
 �	�� 
 �"!

����68
 	��6�� 	�(
���#�" 
�/���
�
 
����� � ��(	�� @�7A ��� ���
���"� 5���!

��	�	�% ���	��8
��� �	� �	��� ���
�
 /��
	�
����	/	 	/���
�
��68�/	 �	����
!

��� V (r) = mω2
0r

2/2 � .��?�����" ����
��"� ��,

" ��
�������" 
 
�/�
��	/	

�	�� 
 

��	��	�
����
� ���	�
 ��� ��������
�	��
 �
�
�/���
�
� E������ Ǳ�


���(	
 
�/�
��	
 �	�� (ω <∼ ω0� 
 �
��	 ��
�������� (T <∼ h̄ω0 )% /�� 	�(
���#�" 


�/�
��" 
	
��� ������
���� ��� �����
� �	��% �	�
 ����/�����	 �����������"

����
�/�
��	 
�
 �
�
�/�
��	 � 	(?�
�� 3����	% �	 
��� �	�"1��
� ��
�������"

��
 ���	
 ���(	
 �	�� �	� � 	(?�
�	 	(����
 �
��#1����� 
 � 
�	/� 	������� �	�#�	

�
�
�/�
��" �	�% ����8
 ��	�# ���� �/���
�"�� ' �����#���� ��� �	��	/	 
�/!

�
��	/	 
	
���� �	�������� 	("��" �
�
�/���
�
 E������ Ǳ�	
��	,���
� 5�	/	

��
�
����	/	 ��
��������	/	 �����	�� ���	�" 	(?����6� 
�	/	�����"
 	���,��
!

�
 5�����	��	 �	��" �� /���
�� �
���
"� M���
�� ����	�
��� ��8�������	 % �	/��

��
�� �	/������	��
 5�����	�	� ����	�
��� (	�#1� ��
 ���
�� �
���
"� Ǳ�
 (	���



!20!

�
�#�	
 
�/�
��	
 �	�� � ω >∼ ω0 ) �	�
 � 	(?�
� ��
�	��� � 5������ �� M���

! ��� 9�#���� ��
 �
��	 ��
�������� T <∼ h̄ω� Ǳ	 
��� ����
���
� ��
�������"

(T >∼ h̄ω ) ��
 ���	
 �
�#�	
 �	�� 	(?�
�"� �	�
 �
��#1�6��� 
 �	��������
������

�
�
�/���
�
 E�����% 	(���	�����" �����"
 �	�	
�

B��
���� 
 :����
� @�7A �	���	
�
 ���	��6 �
�/��

� �	�����
� ��
�/�
!

����	��
 � ��	��	��
 ��
�������� ! 
�/�
��	� �	��� ' 5�	 ��	��	��
 

����� ��


���������"� 	(����
I �
�
�/���
�
� E�����% 	��
����

 �� M��� ! ��� 9�#���� 



��	��	�
����
� ��������
 ��
�/�
����	��
� &�	 ��������
� ���� �	���6 ���!

�
�� ��� 	�(
���#�	/	 
�/���
�
� �	����"� �
���
 � ����
��"� ��
��������"� 



�/���	!�	���"� ��,

���

'	�
	,�	��# 	�(
���#�	/	 
�/���
�
� ��� ���
���"� 5�����	�	�% 	/���
���!

�"� /��
	�
����

 �	����
��	
% ��
 ����
��"� ��,

�� ��
�������" 
 
�/�
��	!

/	 �	�� 
������ ���,� � @�-A� ' 	��
�
� 	� @�7A% /�� 
��	�#�	���� �	�
��� ��


�	!

���
� Ǳ����	��% � @�-A ���" �	��"� �"��,��
� ��� ���
	�
��

����	/	 �	����
���%


�/�
��	/	 
	
����% 
 �
��� 5�����	�	�� .����#���" ��6� �	��	� 	�
���
� ���	�	 

�
�/��

" ��
�/�
����	��
�

' ��(	�� @42A ����
	����� ��
�/�
����	��# �
�
���
����	/	 �	�#�� � ���(	



�/�
��	
 �	��� 3����	% ����
���
��� ��������68
 �(���
��
���
��" � �	� � �
!

�
���
����	
 �	�#��% ���	� ��(	�" �����(��/��� ��
�������


 	��
����
�

 �	!

���

' 	��
�
� 	� ����1�����68
� ��(	�% ��� 
��������� ��	�����������	� ���!

��������
� 5�����
����	/	 �	�� 
 
�/�
��	/	 �	�� � 
��"� �
���
�� � /���
��



� 
	���
 ,����	/	 	/���
�
��68�/	 �	����
����



!22!

§� 9�
�	�	���
	 ���
��$�

 
���
����	�
$ ����
����� 
��$ �

���������. �	���� 
 ����	���������������) �
��	��

��
�/�
�
���
� �	�
��#�	/	 
������ � 
�/�
��	
 �	�� ������	 � �
�! 
 ��!

��
�/�
��"

 �	��

% ����8


 �	 �/	 �	�����	��
� &�
 �	�
 �����������" � ��
!

�	�����	���	
 ��	�% � �	�	�	
 
�/�
��	� �	�� ��	��	�	��	� B�!�� ���(	��
 �
�
�/!

���
�
� �	�����
 � 
�/�
��	
� �	�6 �����
�
% �	5�	
� 


 	("��	 �����(��/�6�

��
 ����
	����

 �
���
����
� �����
 �

��,�� ��
 ��,� ���	� ���(	� 
�
����
� 
�/�
��	/	 �	�� 
	,�� ("�# ��8�!

������	 � �����	�"� �
���
��� D��% 
�/�
��	� �	��% �� ����68�� �� ���	 ��	
�%

����
��	 5����
������ 5�����	��"

 	(	�	���

 @47A% � �����#���� ��/	 ����	��

O�. ���
/����� 
 ���
���� ���
���# 	� �


����	/	 	���,��
� ��	
�� &�	� ���
/

��	��� 
�
��

% ��� ��� �
�
� O�. 

��� ���#
� 
����#��6 1
�
�� �	 �������
6

� �
�
��"
 	(����"
 ���
���
 ��������

 5�����	���

' 
����������	 ���
���	!�����	����	 �
���
� 5�����	��"� �
�
�/�
��"�

�	�
 ���,� �	���6� 5����
�	��� ���1��/	 
�/�
��	/	 �	�� 
 ��
�	��� � 
�
���!

�
6 
�/�
��	/	 �	��% �	��� ����68�/	 �� ����� =	��	��
� 5�����	��	 �	��
���
"

��
��� �� ���
�
�� 
�/�
��	/	 �	��� ' �����	��
% ��
 5�����
����	 
	�����
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 5�����	�	
 �	�������� �	�
	,�	��# 5�����
����
 �	��� ���	!

���# �� ����� ���1��( ��	��	�	��	��
 �����������
� �
�
�/�
��"� �	�	� 
 
�/!

�
��	/	 �	�� 
	,�� �����
���#�� � �	������"
 ���
��	
 �
���
"� Ǳ	5�	
� ����"�

���� 	���"��6��� ���	��8


�� � ����
��	
 �	 ���
�
�� 
�/�
��	
 �	���

§� :
�����
���. �����

.���
	��

 5�����	��" /��% ����6����" � ������ 0 < x < Lx, 0 < y <

Ly, 0 < z < d, d � Lx, Ly� Ǳ���# 
�/�
��	� �	�� B ���������	 ��	�# 	�
 x �
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��	��	��
 �����
 (x, y)� 3�	 	����������� �������
�
 ���������

∂B/∂z = 4πj(z)/c.

Ǳ�	��	��# �
�
�/�
��	/	 �	�� j 

��� �	�#�	 y �	
�	������ D�� ��� �
�
�/���
�


���(" % 
" (���
 �����(��/��# �	������

 � 	��	�	��	
� ���1��
� �	�6 � �"��!

,��

 ��� �
�
�/�
��	/	 �	��� .���	������ ��	��	��# �	�� 
	,�� ("�# �	������


� �"��,��
�

jy(z) = Sp(ĵy(z)f(Ĥ)) =

∞∫
−∞

dEf(E)Sp(ĵy(z)δ(E − Ĥ)), �����

/�� Ĥ = (p̂ + eA/c)2/2me + U(z) ! /�

�#�	�
�� 5�����	�� � 
�/�
��	
 �	��% A =

(0,−B0z, 0) ! ����	�!�	����
�� ���1��/	 
�/�
��	/	 �	�� B0% U(z) ! 	/���
�
��6!

8
 �	����
��% ĵy(z) = −e{v̂y, δ(z − ẑ)}/S ! 	�����	� 	�(
���#�	 ��	��	��
 �	��%

v̂ = (p̂+eA/c)/me ! 	�����	� ��	�	��
 5�����	��% {...} ����������6� 	�����
6 �

!


���
���

% f(E) = (exp ((E − μ)/T ) + 1)−1 ! �����
� �����������
� :��

 �μ, T

! �


����
 �	����
�� 
 ��
���������% S = LxLy ! ��	8��# �
���
"�

D	� (���� ����
���
���#�� � �
�� �	
 �	 ���1��
� �	�6 ��
(�
,��

� .��!

��/�� �	 
�/�
��	
� �	�6% ���	�



jy(z) =
e

mS
Sp

(
δ(z − ẑ)

[
e

c
B0zf(Ĥ0)

−
∞∫

−∞
dEf(E)p̂y(δ(E − Ĥ) − δ(E − Ĥ0))

])
���)�

J���# Ĥ0 = p̂2/2me + U(z) ! /�

�#�	�
�� � 	�������
� 
�/�
��	/	 �	��� ��� ���
!

�
�" δ(E − Ĥ) ��������
�	 ����	,��
�I

δ(E − Ĥ0 − V̂ ) = δ(E − Ĥ0) +
1

2πi

[
Ĝ−V̂ Ĝ− − Ĝ+V̂ Ĝ+

]
+ ..., ���*�

/�� Ĝ± = (E−Ĥ0±iη)−1 ! �����

 M�
�� 5�����	��% η → +0� B��	�#��� �	�
�8��
�

/�

�#�	�
��� � 
�/�
��	
 �	�� V̂ = −(e/mec)B0zp̂y 
 �"�
���� ���� � �	�
���
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���)� � �����������

 �	��	��
 � 	�������
� 
�/�
��	/	 �	��% ���	�

 � �	
	8#6

���*�

jy(z) =
2e2B0

mecS

∑
n,p

[
(z − znn)ϕn(z)2f(En,p)

+
∑
n′ �=n

p2
y

me
ϕn(z)ϕn′(z)znn′

fn,p − fn′,p

En,p − En′,p

]
�����

J���# ϕn(z) ! �	������"� �	��	�"� �����

 � 	�������
� 
�/�
��	/	 �	��% p ! ��	!

�	�#�" 

���#�% En,p = En +p2/2me ! 5���/
� 5�����	�� � \! �	��	�� �	������	/	

�����	���
�% fn,p ≡ f(En,p)�

' 
	���
 ���
	�/	�#�	 �����	�	 �
" ��	����
�� � (���	����"

 ������

I

U(z) = 0 ��
 0 < z < d, U(z) = ∞ ��� z < 0 
 z > d� �"��,��
� ����� 
	,�� ("�#

���	8��	 ��� T = 0

jy(EF , 0; z) =
e2B0

4πcd2

∞∑
n=1

EF −En

En

θ(EF −En)
[
(EF + 3En) ×

d(2z − d) sin2 (πnz/d) − (EF −En) nπz(z − d) sin (2πnz/d)
]
. ���0�

J���# EF = k2
F/2me = μ(T = 0) ! 5���/
� :��

% En = π2n2/2med

2�

:	�
��� ��� �	�� ��
 �	����	 ��
�������� 
	,�� ("�# �	������ 
� ���0� �

�	
	8#6 �		��	1��
�

jy(μ, T ; z) =
∫
dE jy(E, 0; z)

(
−∂f(E)

∂E

)
. ���2�

�� �
�� ���]� 
�	(��,��	 �����������
� �	�� � ������ � (���	����"

 ������!
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� :�
!

����% � 

���	% 	�	(���	��# �	���


�
�	��
 �� �	��	�	
 ����	�� 2kF � Ǳ�	��	��#

�	�� 
����� ����% ��� ��	 ���

� >�
�
�/�
��" >% ���	/	 /	�	��% 	��	�
��� �	�#�	

� �	��	
� �	�����	���	
� �	���

' ������� �
��
� ��
������� �������
� �	�� �/��(# �
" 
������	�� 9�

�!

�	�
�� ��	��	��
 �	�����	���	/	 �	�� � ������� kFd/π � 1 ��
 z � d 
	,�� ("�#
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�/�
��	/	 �	�� �^� ��� T = 0 � �	�8
�	 

�����	�	 �����
� '��
�
�� kFd/π 	(	������� �� ��
�"� ������ ����# kFd/π ����

�
��	 ��������"� �	��	��� ��� kFd/π = 2, 10, 30 5���/
� :��

 �	������� � ��	


�	��	�"% ��� kFd/π = 10.5 	�� ��,
� 
�,�� ��! 
 ��! �	��	��

�
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�� ���� ��
��	 ��

" �	 n � ���0� 
���/���	
 � �	
	8#6 �	�
��" ��


�	���
�

& ����!����	����

n∑
j=m

f(j) =

n∫
m

dxf(x) +
1

2
[f(n) + f(m)] + .... ���4�

' �����#���� �	�����


jy = 3χLckFB0

⎛
⎝−cos x

x
+ 3x2

∞∫
x

sin t

t5
dt

⎞
⎠ , ���7�

δB

B0
= 4πχL

⎛
⎝1 − 3 sin x

2x
+

3x3

2

∞∫
x

sin t

t5
dt

⎞
⎠ ���-�

J���# χL = −e2kF/12π2mec
2 ! 
�/�
���� �	���


�
�	��# E����� ��
 T = 0% x =

2kFz� Ǳ���"� ���/��
"� � ���7� 
 ���-� ����������6� ��

��	�
�
 � 	(����
 z �

π/kF � ' �����	��
% �	��	���" ����� � δB/B0 � �	��	��
 ���� 
�/�
���6 �	���
!



�
�	��# E������ 9���	/
��	� �	�����
� jy 
 δB/B0 

�6� ��
 d− z � d�

Ǳ�
 �	����	 ��
�������� ��� kF z � 1 ���	�



δB

B0
= 4πχL

[
1 − 3πT

4EF

sin(2kF z)

sh(z/lT )

]
, ������

/�� lT = kF/(2πmeT ) ! ����������� ��
�� �������
�� J�
��

% ��	 ��

���	� ���!

����
� ���,� ��
�	�
� � �������
6 δB(z) �� �����	��

 ��
�" ��	(	��	/	 ��	(�/�

	� �	�����	��
�

'"��,��
� ��� ��
�	�����	���	/	 �	�� ���7� 
 
�/�
��	/	 �	�� �*�7� �������!

�
�" 
 � ������� �	�
��#�	/	 
���
��	/	 
������% �	/�� d→ ∞� Ǳ�
 5�	
 �		��	!

1��
� ��
�" ��	(�/� 
 �	�8
�" 	(����� �� 
/���� �	�
� 3�
��

% ��	 �	��	�#��

����
	����
� ������� � ������� ���(	/	 
�/�
��	/	 �	��% 
" �����	 
��	�#���
 
�!

�"� ����
���" ! 	��	1��
� ���������"� ��
� � ������ 
 �
��	��	��	/	 ���
����

��� �	����	/	 
�/�
��	/	 �	�� � ������� �	�
��#�	/	 
���
��	/	 
������ �	�
�!

�" ���7� 
 ���-� 	���6��� ��������
�"

 ���	�# �	 �����	��
 �	����� �
��	��	�!

�	/	 ���
��� 	� /���
�"�
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��68�/	 � �		��
���	 �	�����	���	/	 �	��% �� �
�� ���]� 
	,!

�	 ��
���# 
���6 ��/������6 �	
�	����� � ��	��	��
 �	��% �	�	��� �
�� �	 ���
!

�
� 	� �	������	 �		��
���"� 9�

��	�
����
 ��
 kFd/π � 1 5�	� ����� 

���

�
�

− e2B0kF

12mecd2
(z − d/2)(1 + 6ζ(ζ − 1)), ζ = kFd/π − [kFd/π]. ������

J���# ��������"� ��	(�
 	(	�����6� ����6 ����# �
���� E
�� ��� �	
�	����� 
��#!

1�% ��
 �	�����	���" �	� � kFd ���� ;	5��
�
��� (1 + 6ζ(ζ − 1)) ��
 �
�� �	


���/��
	
 	��
��
���� � �


����

 �	����
��	
% ��
��
 ������� 	� ��/	 �	 kF


�
 �	�8
�� 	(��8����� � �	�#� �' ������� 
���
��	/	 
������ ���	� ��������
�


	,�� �		�������	���# ��������
6 �	 ����
(�6 	(����	� � ��
�(�,�"
 ���(�	�	


�	�8
���

Ǳ�
 �	����	 ��
�������� �
�� �	� ���/��
	� ����	

−e
2TB0

πcd
(z − d/2)

∞∑
n=1

cos(2nkFd)

n sh(nT/θ)
, ����)�

/�� θ = EF (πkFd)
−1 ! ��������
��
������ ��
��������% �"1� �	�	�	 �
�� �	� ���!

/��
	� 5���	����
��#�	 �("�����

Ǳ	�����
 � 
�/�
��	
� �	�6 �	�����" �� �
�� ���^�� E
�� ��� ���
�

	��#

jy 	� �		��
���" �	����� ����(	�
����
 �	 �		��
���� ����� � 
�/�
��	� �	��%

������
���#�" � ����
���� ζ �

3�
��

% ��	 �
�� �	� ���/��
	� � ��	��	��
 �	�� 
 ����(	�
����
 ����� �


�/�
��	� �	�� ������" � 	�(
���#�"
 
�/���
�
	
� ' �����	�	 ������ 	�(
���#!

�" ����� � 
�/�
���6 �	���


�
�	��# ��������
	��	 ������ � 1
�
�	 ��� kFd%

��	 �		���������� �	��� ����(	�
����	/	 ������ � 
�/�
��	� �	���
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 ���
���"� 5�����	�"% ��
,��
� �	�	�"� 	/���
���	 �	�	�	 0 <

y < Ly, 0 < z < d, d � Ly� &�	
� �		���������� 
���6���
� x! �		��
���" 
�

�	�
�� ����"��8�/	 �������� Ǳ���# 
�/�
��	� �	�� B ���,� ���������	 ��	�#

	�
 x� '"��,��
� ��� ��	��	��
 �	�� ����� 	������� ��������
�"
% ���
 	����
�#

��


�	���
� �	�#�	 �	 n 
 

���#�� py� ' �
�� �	
 ��
(�
,��

 �	 B0 ��� 
	���


���
	�/	�#�	 �
" ��
 �����	 ��
�������� �	�����
 �
���	 ���0�

jy(EF , 0; z) =
2e2B0kF

3mcd2

∞∑
n=1

(1 − En/EF )1/2θ(EF −En)
[
(EF/En + 2) ×

d(2z − d) sin2 (πnz/d) − (EF/En − 1) nπz(z − d) sin (2πnz/d)
]
. ����*�

�� �
�� �� ��
������ ���
�

	��# ��	��	��
 �	�� 
 
�/�
��	/	 �	�� � �	�	��

��
 T = 0�

9���	/
��	 ���7�% ���	�

 ��� �	�����	���	 ��	��	��
 �	�� ��
 kFd/π � 1%

z � dI

jy = 3πχ2D
L ckFB0x

2

⎛
⎝ x∫

0

J2(t)dt

t2
− 1

3

⎞
⎠ = 3πχ2D

L ckFB0x
2

∞∫
x

J2(t)dt

t2
. ������

J���# χ2D
L = −e2/12πmc2 ! 
�/�
���� �	���


�
�	��# E����� ��� ���
���	/	 5���!

��	��	/	 /��� ��
 T = 0% J2(t) ! �����
� C�������

'"��,��
� ��� ��	��	��
 �	�� ������ 

��� �����68
� ��

��	�
�


jy = 3πχ2D
L ckFB0

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

x2

3
��
 x� 1,

√
2

πx
sin (x− π/4) ��
 x� 1.

����0�

J������
� ��
�������
� 	��
����
 �� (	�#1	
 �����	��

 	� /���
�" 	���"��!

���� (	��� 
������"
% ��
 � ����
���	
 �������

Ǳ�
 �	����	 ��
�������� ��� kF z � 1 ���	�



jy = 3πχ2D
L ckFB0

sin (2kFz − π/4)√
πkF z

z/lT
sh(z/lT )

. ����2�
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� ��	��	��
 �	�� �]� �� ��
�
��� e2B0kF/(mec)�% 
 
�/!

�
��	/	 �	�� �^� �� 	��	�
���#�"� ��
�
����% � ���
���	 �	�	�� ��
 T = 0%

kFd/π = 10, 10.5� Ǳ����
���� ��
���% ��
�������� ��� �������
�% �		����������

(�����
���	 ��	��	��
 �	�� � �����	�	 ������ ��
 kFd/π = 10� '
��	% ��	 	��
�!

���

 ��	��	��
 �	�� � )< ������ ������6� ����
���#�	 
��������% ��
 � *<�
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	 �
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��	/	 �	��% 

����� ���,� ����
�/�
��" �	�% 	(���	����!

�" 5�����	��"
 ��
�	
� &�	� ����� 
	,�� ("�# �� ��� 
� ����� � ����	
 ��
�	!

�	 ����
 /�

�#�	�
��� −gμBB0σx/2 
 �������"� �	 ��
�	
 �	
�	���� 	�����	��

��	��	��
 �	�� ĵ(sp) = cgμB ∇ × (σδ(z − ẑ))/S� J���# g ! 5�����	��" _!����	�%

μB ! 
�/���	� C	��% σi ! 
���
�" Ǳ���
� ' �
�� �	
 ��
(�
,��

 �	 B0 �	���

5��
������"� �"�
����
 ���	�

 ��� ��	��	��
 ����
�/�
��	/	 �	��

j(sp)
y =

g2μ2
BcB0

2S

∑
n,p

(
−∂f(Enp)

∂E

)
∂ϕ2

n(z)

∂z
≡ g2μ2

BcB0

4

∂

∂μ

∂

∂z
n(z), ����4�

/�� n(z) ! �	���#��� ���
����� 
�
 ����
����� �	��������
� 5�����	�	�� &�	� �	� 
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�
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 ������
%

����
	�����"
 � ����"��8
� ��������� 3��	1��
� �
�
�/�
��	/	 
 ����
�/�
��	!

/	 �����	� ���
�
� 	� _!����	�� 
% � ��
��
��% 
	,�� �
�#�	 
����#�� � ����
��"�


����
�����

' �����	
 ������ ����
���	 �����	�	 �����
 � (���	����"

 ������

 ��


T = 0

j(sp)
y = −g

2μ2
Bmk

2
F cB0

2π2

(
cosx

x
− sin x

x2

)
, δB =

g2μ2
BmkFB0

π

(
1 − sin x

x

)
. ����7�

��� ���
���	 �	�	�" ��	��	��# ����
�/�
��	/	 �	�� 

��� �
�

j(sp)
y = g2μ2

BmkF cB0J1(x)/2. ����-�

§7 "��� 
�
�	�	.

Ǳ�

���	� �������
� ����	/
��	 ��
�������� ��
�	�
� � ���
"���
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���
 ��	��	��
 �	��� ' ������� ���(	/	 �������
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∑
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